

Available online at http://scik.org Eng. Math. Lett. 2014, 2014:1 ISSN: 2049-9337

ON A GENERAL SYSTEM OF VARIATIONAL INEQUALITIES

I.K. LEE

Gyeongnam National University of Science and Technology, Chinju, Korea

Copyright © 2014 I.K. Lee. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we investigate the problem of finding common elements of the set of solutions of a general system of variational inequalities for relaxed cocoercive mappings and of the set of fixed points of a strict pseudo-contraction based on iterative methods. Strong convergence theorems are established.

Keywords: inverse-strongly monotone mapping; nonexpansive mapping; fixed point; variational inequality.

2000 AMS Subject Classification: 47H05, 47H09, 47H10

1. Introduction-Preliminaries

Variational inequalities, which include many important problems in nonlinear analysis and optimization such as the Nash equilibrium problem, complementarity problems, vector optimization problems, fixed point problems, saddle point problems and game theory, recently have been studied as an effective and powerful tool for studying many real world problems which arise in economics, finance, image reconstruction, ecology, transportation, and network; see [1-8] and the references therein.

Let *C* be a nonempty closed and convex subset of a real Hilbert space *H* and *P*_{*C*} the metric projection of *H* onto *C*. Let $A : C \to H$ be a mapping.

E-mail address: kojcae@gmail.com

Received August 28, 2013

Recall that A is said to be monotone if

$$\langle Ax - Ay, x - y \rangle \ge 0, \quad \forall x, y \in C.$$

(2) A is said to be r-strongly monotone if there exists a constant r > 0 such that

$$\langle Ax - Ay, x - y \rangle \ge r ||x - y||^2, \quad \forall x, y \in C.$$

(3) *A* is said to be γ -cocoercive if there exists a constant $\gamma > 0$ such that

$$\langle Ax - Ay, x - y \rangle \ge \gamma ||Ax - Ay||^2, \quad \forall x, y \in C.$$

(4) A is said to be relaxed γ -cocoercive if there exists a constant $\gamma > 0$ such that

$$\langle Ax - Ay, x - y \rangle \ge (-\gamma) ||Ax - Ay||^2, \quad \forall x, y \in C.$$

(5) A is said to be relaxed (γ, r) -cocoercive if there exist two constants $\gamma, r > 0$ such that

$$\langle Ax - Ay, x - y \rangle \ge (-\gamma) ||Ax - Ay||^2 + r ||x - y||^2, \quad \forall x, y \in C.$$

Given nonlinear mappings $A : C \to H$ and $B : C \to H$, consider the problem of finding an $x \in C$ such that

$$\langle x - Bx + \lambda Ax, y - x \rangle \ge 0, \quad \forall y \in C,$$
 (1.1)

where $\lambda > 0$ is a constant. We see that an element $x \in C$ is a solution to the problem (1.1) if and only if $x \in C$ is a fixed point of the mapping $P_C(B - \lambda A)$. This equivalence plays an important role in this work. If B = I, the identity mapping, then the problem (1.1) is reduced to the classical variational inequality problem: find an $x \in C$ such that

$$\langle Ax, y - x \rangle \ge 0, \quad \forall y \in C.$$
 (1.2)

In this work, we use VI(C,A) to denote the solution set of the problem (1.2). For given $z \in H$ and $x \in C$, we see that the following inequality holds $\langle x - z, y - x \rangle \ge 0, \forall y \in C$, if and only if $x = P_C z$. Let $A, B, \widehat{A}, \widehat{B} : C \to H$ be four nonlinear mappings. Next, we consider the following problem of finding $(x^*, y^*) \in C \times C$ such that

$$\begin{cases} \langle x^* - By^* + \lambda Ay^*, x - x^* \rangle \ge 0, & \forall x \in C, \\ \langle y^* - \widehat{B}x^* + \widehat{\lambda}\widehat{A}x^*, x - y^* \rangle \ge 0, & \forall x \in C, \end{cases}$$
(1.3)

where $\hat{\lambda} > 0$ and $\mu > 0$ are two constants. (1.3) is said to be a general system of variational inequalities involving four nonlinear mappings.

If $B = \widehat{B} = I$, then the problem (1.3) is reduced to the following.

Find $(x^*, y^*) \in C \times C$ such that

$$\begin{cases} \langle x^* - y^* + \lambda A y^*, x - x^* \rangle \ge 0, & \forall x \in C, \\ \langle y^* - x^* + \widehat{\lambda} \widehat{A} x^*, x - y^* \rangle \ge 0, & \forall x \in C, \end{cases}$$
(1.4)

where $\lambda > 0$ and $\hat{\lambda} > 0$ are two constants. The problem (1.4) was considered by many authors, see, for example, Chang et al. [9], Cho and Qin [10], Huang and Noor [11], Qin et al. [12] and the references therein.

If $B = \widehat{B} = I$ and $A = \widehat{A}$, then the problem (1.3) is reduced to the following.

Find $(x^*, y^*) \in C \times C$ such that

$$\begin{cases} \langle x^* - y^* + \lambda A y^*, x - x^* \rangle \ge 0, & \forall x \in C, \\ \langle y^* - x^* + \lambda A x^*, x - y^* \rangle \ge 0, & \forall x \in C, \end{cases}$$
(1.5)

where $\lambda > 0$ is a constant. The problem (1.5) was introduced by Verma [13] in 1999.

Further, if we add up the requirement that $x^* = y^*$, then problem (1.3) is reduced to the general variational inequality (1.1).

Recall that a mapping $R: C \rightarrow C$ is said to be nonexpansive if

$$||Rx - Ry|| \le ||x - y||, \quad \forall x, y \in C.$$

The mapping $R: C \to C$ is said to be strictly pseudo-contractive if there exists a constant $k \in [0,1)$ such that

$$||Rx - Ry||^2 \le ||x - y||^2 + k||(I - R)x - (I - R)y||^2, \quad \forall x, y \in C.$$

For such a case, *R* is said to be a *k*-strict pseudo-contraction. The mapping $R : C \to C$ is said to be pseudo-contractive if

$$||Rx - Ry||^2 \le ||x - y||^2 + ||(I - R)x - (I - R)y||^2, \quad \forall x, y \in C.$$

I.K. LEE

Clearly, the class of strict pseudo-contractions falls into the one between classes of nonexpansive mappings and pseudo-contractions.

Recently, many authors studied the problem of finding a common element of the set of fixed points of nonexpansive mappings and the set of solutions of the variational inequality problem (1.2) in the framework of real Hilbert space.

In this paper, we investigate the problem of finding common elements of the set of solutions of a general system of variational inequalities for relaxed cocoercive mappings and of the set of fixed points of a strict pseudo-contraction based on iterative methods. Strong convergence theorems are established. In order to prove our main results, we need the following lemmas and definitions.

Lemma 1.1. For given $x^* \in C$ and $y^* \in C$, (x^*, y^*) is a solution of the problem (1.3) if and only if x^* is a fixed point of the mapping $T : C \to C$ defined by

$$Tx = P_C (BP_C(\widehat{B}x - \widehat{\lambda}\widehat{A}x) - \lambda AP_C(\widehat{B}x - \widehat{\lambda}\widehat{A}x)), \quad \forall x \in C.$$

Lemma 1.2 Let $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a real Hilbert space H and $\{\beta_n\}$ a sequence in [0,1] with

$$0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1.$$

Suppose that $x_{n+1} = (1 - \beta_n)y_n + \beta_n x_n$ for all integers $n \ge 0$ and

$$\limsup_{n \to \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \le 0.$$

Then $\lim_{n\to\infty} ||y_n - x_n|| = 0.$

Lemma 1.3 Assume that $\{\alpha_n\}$ is a sequence of nonnegative real numbers such that

$$\alpha_{n+1} \leq (1-\gamma_n)\alpha_n + \delta_n,$$

where $\{\gamma_n\}$ is a sequence in (0,1) and $\{\delta_n\}$ is a sequence such that

- (a) $\sum_{n=1}^{\infty} \gamma_n = \infty;$
- (b) $\limsup_{n\to\infty} \delta_n / \gamma_n \leq 0$ or $\sum_{n=1}^{\infty} |\delta_n| < \infty$.

Then $\lim_{n\to\infty} \alpha_n = 0$.

Lemma 1.4 Let *H* be a real Hilbert space, *C* a nonempty closed and convex subset of *H* and $R: C \rightarrow C$ a nonexpansive mapping. Then I - R is demiclosed at zero.

The following lemma is a corollary of Bruck's result.

Lemma 1.5. Let C be a nonempty closed and convex subset of a real Hilbert space H. Let R_1 and R_2 be two nonexpansive mappings from C into C with a common fixed point. Define a mapping $R: C \to C$ by

$$Rx = \rho R_1 x + (1 - \rho) R_2 x, \quad \forall x \in C,$$

where ρ is a constant in (0,1). Then R is nonexpansive and $F(R) = F(R_1) \cap F(R_2)$.

Lemma 1.6 Let C be a nonempty closed and convex subset of a real Hilbert space H and $S: C \to C$ a k-strict pseudo-contraction. Define $R: C \to C$ by $Rx = \alpha x + (1 - \alpha)Sx$ for each $x \in C$. Then, as $\alpha \in [k, 1)$, R is nonexpansive such that F(R) = F(S).

2. Main results

Theorem 2.1. Le $A : C \to H$ be a relaxed (γ_a, r_a) -cocoercive and μ_a -Lipschitz continuous mapping, $\widehat{A} : C \to H$ a relaxed $(\widehat{\gamma}_a, \widehat{r}_a)$ -cocoercive and $\widehat{\mu}_a$ -Lipschitz continuous mapping, $B : C \to H$ a relaxed $(\widehat{\gamma}_b, r_b)$ -cocoercive and μ_b -Lipschitz continuous mapping, $\widehat{B} : C \to H$ a relaxed $(\widehat{\gamma}_b, \widehat{r}_b)$ -cocoercive and μ_b -Lipschitz continuous mapping, $\widehat{B} : C \to H$ a relaxed $(\widehat{\gamma}_b, \widehat{r}_b)$ -cocoercive and $\widehat{\mu}_b$ -Lipschitz continuous mapping and $S : C \to C$ a nonexpansive mapping with a fixed point. Assume that $\mathscr{F} := F(S) \cap F(T) \neq \emptyset$, where T is defined as Lemma 1.1. Let $\{x_n\}$ be a sequence generated in the following manner:

$$\begin{cases} x_1 = u \in C, \\ z_n = P_C(\widehat{B}x_n - \widehat{\lambda}\widehat{A}x_n), \\ y_n = P_C(Bz_n - \lambda Az_n), \\ x_{n+1} = \alpha_n f(x_n) + \beta_n x_n + \gamma_n [\rho Sx_n + (1-\rho)y_n], \quad n \ge 1, \end{cases}$$

where $f: C \to C$ be a contractive mapping, $\rho \in (0, 1)$, λ and $\hat{\lambda}$ are positive constants and $\{\alpha_n\}$, $\{\beta_n\}$, $\{\gamma_n\}$ and $\{\delta_n\}$ are sequences in (0, 1). Assume that the following restrictions are satisfied

(a) $\alpha_n + \beta_n + \gamma_n = 1, \forall n \ge 1;$

(b)
$$\lim_{n\to\infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty;$$

(c) $0 < \liminf_{n\to\infty} \beta_n \le \limsup_{n\to\infty} \beta_n < 1;$
(d) $\sqrt{1 - 2\lambda r_a + \lambda^2 \mu_a^2 + 2\lambda \gamma_a \mu_a^2} + \sqrt{1 - 2r_b + \mu_b^2 + 2\gamma_b \mu_b^2} \le 1;$
(e) $\sqrt{1 - 2\widehat{\lambda}\widehat{r}_a + \widehat{\lambda}^2\widehat{\mu}_a^2 + 2\widehat{\lambda}\widehat{\gamma}_a\widehat{\mu}_a^2} + \sqrt{1 - 2\widehat{r}_b + \widehat{\mu}_b^2 + 2\widehat{\gamma}_b\widehat{\mu}_b^2} \le 1.$

Then the sequence $\{x_n\}$ converges strongly to $\bar{x} = P_{\mathscr{F}}u$ and (\bar{x}, \bar{y}) is a solution of the problem (1.3), where $\bar{y} = P_C(\widehat{B} - \widehat{\lambda}\widehat{A})\bar{x}$.

Proof. Letting $x^* \in F(S) \cap F(T)$, we find that $Sx^* = x^* = P_C (BP_C(\widehat{B}x^* - \widehat{\lambda}\widehat{A}x^*) - \lambda AP_C(\widehat{B}x^* - \widehat{\lambda}\widehat{A}x^*))$. Putting $y^* = P_C(\widehat{B} - \widehat{\lambda}\widehat{A})x^*$, we obtain that $x^* = P_C(B - \lambda A)y^*$.

Next, we show that the mappings $B - \lambda A$ and $\widehat{B} - \widehat{\lambda}\widehat{A}$ are nonexpansive, respectively. Indeed, for any $x, y \in C$, we have

$$\|(B - \lambda A)x - (B - \lambda A)y\| \le \|(x - y) - (Bx - By)\| + \|(x - y) - \lambda (Ax - Ay)\|.$$
(2.1)

Note that

$$\|(x-y) - \lambda(Ax - Ay)\| \le \sqrt{1 - 2\lambda r_a + \lambda^2 \mu_a^2 + 2\lambda \gamma_a \mu_a^2} \|x - y\|.$$
(2.2)

We also have

$$\|(x-y) - (Bx - By)\| \le \sqrt{1 - 2r_b + \mu_b^2 + 2\gamma_b \mu_b^2} \|x - y\|.$$
(2.3)

Substituting (2.2) and (2.3) into (2.1) yields that

$$\|(B - \lambda A)x - (B - \lambda A)y\|$$

$$\leq \left(\sqrt{1 - 2\lambda r_a + \lambda^2 \mu_a^2 + 2\lambda \gamma_a \mu_a^2} + \sqrt{1 - 2r_b + \mu_b^2 + 2\gamma_b \mu_b^2}\right)\|x - y\|$$

In view of the condition (d), we obtain that $B - \lambda A$ is nonexpansive, so is $\widehat{B} - \widehat{\lambda}\widehat{A}$. On the other hand, we have

$$\|z_n - y^*\| = \|P_C(\widehat{B}x_n - \widehat{\lambda}\widehat{A}x_n) - P_C(\widehat{B} - \widehat{\lambda}\widehat{A})x^*\| \le \|x_n - x^*\|,$$

from which it follows that $||y_n - x^*|| \le ||z_n - y^*|| \le ||x_n - x^*||$. Put $t_n = Sx_n + (1 - \rho)y_n, \forall n \ge 1$. It follows that

$$\begin{aligned} \|t_n - x^*\| &\leq \rho \|Sx_n - x^*\| + (1 - \rho) \|y_n - x^*\| \\ &\leq \rho \|x_n - x^*\| + (1 - \rho) \|x_n - x^*\| \\ &= \|x_n - x^*\|. \end{aligned}$$

From the algorithm, we arrive at

$$\begin{aligned} \|x_{n+1} - x^*\| &\leq \alpha_n \|f(x_n) - x^*\| + \beta_n \|x_n - x^*\| + \gamma_n \|t_n - x^*\| \\ &\leq \alpha_n \|u - x^*\| + \beta_n \|x_n - x^*\| + \gamma_n \|x_n - x^*\| \\ &\leq (1 - \alpha_n (1 - \alpha)) \|x_n - x^*\| + \alpha_n \alpha \|f(x^*) - x^*\| \end{aligned}$$

which implies that the sequence $\{x_n\}$ is bounded. Consequently, $\{y_n\}$, $\{z_n\}$, $\{w_n\}$ and $\{t_n\}$ are bounded. Notice that

$$\begin{aligned} \|y_{n+1} - y_n\| &= \|P_C(Bz_{n+1} - \lambda Az_{n+1}) - P_C(Bz_n - \lambda Az_n)\| \\ &\leq \|z_{n+1} - z_n\| \\ &= \|P_C(\widehat{B}x_{n+1} - \widehat{\lambda}\widehat{A}x_{n+1}) - P_C(\widehat{B}x_n - \widehat{\lambda}\widehat{A}x_n)\| \\ &\leq \|x_{n+1} - x_n\|. \end{aligned}$$

It follows from (2.4) and (2.5) that

$$\|t_{n+1} - t_n\| \le \rho \|Sx_{n+1} - Sx_n\| + (1 - \rho)\|y_{n+1} - y_n\| \le \|x_{n+1} - x_n\|.$$
(2.4)

Next, we show that

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$
(2.5)

Put

$$x_{n+1} = (1 - \beta_n)l_n + \beta_n x_n, \quad \forall n \ge 1.$$
(2.6)

Now, we compute $l_{n+1} - l_n$. Notice that

$$\|l_{n+1} - l_n\| \le \frac{\alpha_{n+1}}{1 - \beta_{n+1}} \|f(x_{n+1}) - t_{n+1}\| + \frac{\alpha_n}{1 - \beta_n} \|t_n - f(x_n)\| + \|t_{n+1} - t_n\|.$$
(2.7)

Substituting (2.4) into (2.7), we arrive at

$$||l_{n+1} - l_n|| - ||x_{n+1} - x_n|| \le \frac{\alpha_{n+1}}{1 - \beta_{n+1}} ||f(x_{n+1}) - t_{n+1}|| + \frac{\alpha_n}{1 - \beta_n} ||t_n - f(x_n)||.$$

It follows from the conditions (b) and (c) that

$$\limsup_{n\to\infty} \left(\|l_{n+1} - l_n\| - \|x_{n+1} - x_{n+1}\| \right) \le 0.$$

From Lemma 1.2, we obtain that

$$\lim_{n \to \infty} \|l_n - x_n\| = 0.$$
 (2.8)

Thanks to (2.6), we see that $x_{n+1} - x_n = (1 - \beta_n)(l_n - x_n)$, which combines with (2.8), we obtain that (2.5) holds. Note that $x_{n+1} - x_n = \alpha_n(f(x_n) - x_n) + \gamma_n(t_n - x_n)$. It follows from (2.5) and the condition (b) and (c) that

$$\lim_{n \to \infty} \|t_n - x_n\| = 0.$$
 (2.9)

Next, we show that

$$\limsup_{n \to \infty} \langle f(\bar{x}) - \bar{x}, x_n - \bar{x} \rangle \le 0,$$
(2.10)

where $\bar{x} = P_{\mathscr{F}}f(\bar{x})$. To show (2.10), we can choose a sequence $\{x_{n_i}\}$ of $\{x_n\}$ such that

$$\limsup_{n \to \infty} \langle f(\bar{x}) - \bar{x}, x_n - \bar{x} \rangle = \lim_{i \to \infty} \langle f(\bar{x}) - \bar{x}, x_{n_i} - \bar{x} \rangle.$$
(2.11)

Since $\{x_{n_i}\}$ is bounded, we see that there exists a subsequence $\{x_{n_i}\}$ of $\{x_{n_i}\}$ which converges weakly to w. Without loss of generality, we may assume that $x_{n_i} \rightarrow w$. Next, we show that $w \in F(T) \cap F(S)$. In fact, define a mapping $J : C \rightarrow C$ by

$$Qx = \rho Sx + (1 - \rho)P_C(B - \lambda A)P_C(\widehat{B} - \widehat{\lambda}\widehat{A})x, \quad \forall x \in C.$$

From Lemma 1.5, we see that Q is a nonexpansive mapping such that

$$F(Q) = F(R) \cap F(P_C(B - \lambda A)P_C(\widehat{B} - \widehat{\lambda}\widehat{A})) = F(S) \cap F(T).$$

From (2.9), we obtain that

$$\lim_{n \to \infty} \|Qx_n - x_n\| = 0.$$
 (2.10)

It follows from Lemma 1.4 that $w \in F(Q) = F(S) \cap F(T)$. In view of (2.11), we arrive at

$$\limsup_{n \to \infty} \langle f(\bar{x}) - \bar{x}, x_n - \bar{x} \rangle = \langle f(\bar{x}) - \bar{x}, w - \bar{x} \rangle \le 0.$$
(2.11)

In view of Lemma 1.3, it is not hard to draw the desired conclusion easily. This completes the proof.

Conflict of Interests

The author declares that there is no conflict of interests.

Acknowledgements

The author is grateful to the reviewer's suggestions which improved the contents of the article.

REFERENCES

- A.Y. Al-Bayati, R.Z. Al-Kawaz, A new hybrid WC-FR conjugate gradient-algorithm with modified secant condition for unconstrained optimization, J. Math. Comput. Sci. 2 (2012) 937-966.
- [2] J. Shen, L.P. Pang, An approximate bundle method for solving variational inequalities, Commn. Optim. Theory, 1 (2012) 1-18.
- [3] H.S. Abdel-Salam, K. Al-Khaled, Variational iteration method for solving optimization problems, J. Math. Comput. Sci. 2 (2012) 1475-1497.
- [4] H. Zegeye, N. Shahzad, Strong convergence theorem for a common point of solution of variational inequality and fixed point problem, Adv. Fixed Point Theory, 2 (2012) 374-397.
- [5] B.O. Osu, O.U. Solomon, A stochastic algorithm for the valuation of financial derivatives using the hyperbolic distributional variates, Math. Fianc. Lett. 1 (2012) 43-56.
- [6] S. Park, A review of the KKM theory on ϕ_A -space or GFC-spaces, Adv. Fixed Point Theory 3 (2013) 355-382.
- [7] X. Qin, Y.J. Cho, S.M. Kang, Convergence theorems of common elements for equilibrium problems and fixed point problems in Banach spaces, J. Comput. Appl. Math. 225 (2009) 20-30.
- [8] Z.M. Wang, W.D. Lou, A new iterative algorithm of common solutions to quasi-variational inclusion and fixed point problems, J. Math. Comput. Sci. 3 (2013) 57-72.
- [9] V.A. Khan, K. Ebadullah, I-convergent difference sequence spaces defined by a sequence of moduli, J. Math. Comput. Sci. 2 (2012) 265-273.
- [10] S.S. Chang, H.W.J. Lee, C.K. Chan, Generalized system for relaxed cocoercive variational inequalities in Hilbert spaces, Appl. Math. Lett. 20 (2007) 329-334.
- [11] Y.J. Cho, X. Qin, Systems of generalized nonlinear variational inequalities and its projection methods, Nonlinear Anal. 69 (2008) 4443-4451.
- [12] Z. Huang, M.A. Noor, An explicit projection method for a system of nonlinear variational inequalities with different (γ , r)-cocoercive mappings, Appl. Math. Comput. 190 (2007) 356-361.
- [13] X. Qin, S.M. Kang, M. Shang, Generalized system for relaxed cocoercive variational inequalities in Hilbert spaces, Appl. Anal. 87 (2008) 421-430.
- [14] R.U. Verma, On a new system of nonlinear variational inequalities and associated iterative algorithms. Math. Sci. Res. Hot-Line 3 (1999) 65-68.